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DO NOT 'OPEN THIS: TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : B-APM-P-CKB Test Booklet Series
' Serial No.
TEST BOOKLET
GENERAL STUDIES
Paper—I
Time Allowed : Two Hours Maximum Marks ; 200
‘ INSTRUCTIONS |

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
' THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
; OR ITEMS, ,ETC. IF SO, GET IT REPLACED BY A COMFLETE TEST BOOKLET.

. 2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

3. You have to enter yvour Rell Number on the Test. Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

4, This Test Booklet contains 100 items (questions). Each itemn is printed both in Hindi and
English. i£ach item comprises four responses (answers), You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks.

7. Before vou proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate. :

i

8. After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

i 10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

[i} There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty. '

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

{iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S0
G & ¢ sEEE w0 T w39 gt & o gm woewm B
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1. Which of the following statements is/are
correct?

1. A Bill pending in the Lok Sabha
lapses on its prorogation.

2. A Bill pending in the Rajya Sabha,
which has not been passed by the
Lok Sabha, shall not lapsc on
dissolution of the Lok Sabha.

Select the correct answer using the code
given below.

fal 1 only

(b] 2 only

fe) Both 1 and 2
fd) MNeither 1 nor 2

2. Which of the following isfare the
indicator/indicators used by IFPRI to
compute the Global Hunger Index
Report?

1. Undernourishment
2. Child stunting
3. Child mortality

Select the correct answer using the code
given below.

fa) 1 only

) 2 and 3 only
fey 1,2 and 3
fd] 1 and 3 only

3. There has been a persistent delicil
budpet year after year. Which

action/actions of the following can—be—

taken by the Government to reduce
the deficit?

Reducing revenue expentiture

2. Introducing new welfare schemes
3. Rationalizing subsidies
4., Reducing import duty

B-APM-P-CKEB/65A

Select the correct answer using the code
given below,

{a} 1 only

{b) 2 and 3 only

fe} 1 and 3 only

(dif 1,2, 3 and 4

4. The establishment of ‘Payment Banks'
is being allowed in India to promote
financial inclusion. Which of the
following statements 1sfare correct in
this context?

1. Mobile telephone companies and
supermarket chamns that are
owned and controlled by residents
are eligible to be promoters of
Payment Banks,

2. Payment Banks can issuc both
credit cards and debit cards,

3. Payment Banks cannot undertake
lending activities.

Select the correct answer usmg the code

givenn below. '

fa) 1 and 2 only

fb) 1 and 3 only

fel 2 only

fdl 1, 2 and 3

5. With reference to ‘LiFi’, recently in the
news, which of the following statements-
1s/are correct? -

1. [Ituses light as the [_':"L:Eﬂium for high-
speed data transmission.

2. It is a wireless technology and is
several times faster than "WiFi'

Select the correct answer using the code
given below. . \

fal 1 only

{b] 2 only-

"fc) Both 1 and 2
(d) MNeither 1 nor 2
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6. The term ‘Intended Nationally Deter-
mined Contributiong’ is sometimes seen
in the news in the context of

fa) pledges made by the Eurcpean

countries to rehalalitate refugees
from the war-affected Middle East

(b} plan of action outlined by the
countries of the world to combat
chimate change

fe) ecapital contributed by the member

countries 1 the establishment of -

Asian Infrastructure Investment
Bank

{d} plan of action outlined by the
countries of .the world regarding
Sustainable Development Goals

7. Which one of the following is a purpose of
UDAY', a scheme of the Government?

fa) Providing technical and financial
assistance o start-up  entre-
preneurs in the field of renewable
sources of energy

fb) Providing electricity to every
houscheld in the country by 2018

fe) Replacing the coal-based power
plants with natural gas, nuclear,
solar, wind and tidal power plants
over a period of time

fd) Providing for financial turnaround
and revival of power distribution
companies

8. With reference to ‘IFC Masala Bonds’,
' sometimes seen in the news, which of
the statements given below is/are

Select the correct answer using the code
given below.

fa) 1 only

{b) 2 only

e} Both 1 and 2
{cd) Neither 1 nor 2

9. Regarding the taxation system of Krishna
Deva, the ruler of Vijavanagar, consider
the following statements :

1. The tax rate on land was fixed
depending on the quality of the
land.

2.  Private owners of workshops paid
an mdustnes tax.

Which of the statements given above
18/are correct? .

fal 1 only
fB) 2 only
fe} Both 1 and 2
{d} Neither 1 nor 2
10. Which one of the following books of

ancient India has the love story of the
son of the founder of Sunga dynasty?

{a) Swapnavasavadatia
(b}  Malavikagnimitra

fel  Meghadoota

{d} Ratnavali

11. In the context of which of the following
do—vou- somelimes—Ifind the terms

correct? = *

1. The International Finance Corpora-
tion, which offers these bonds, is
an arm of the Werld Bank.

2. They are the rupee-denominated
bonds and are a source of debt
financing for the public and private
sector.

B-APM-P-CKB/65A

‘amber box, blue box and green box’ in
the news?

fa} WTO affairs

(b} SAARC affairs

fc} UNFCCC affairs

{d) India-EU negotiations on FTA
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12. Which of the following is/are included
in the capital budget of the Government
of India?

1.

Expenditure on acquisition of
assects  like roads, buildings,
machmery, etc.

Loans received from foreign

governments

Loans and advances granted to
the States and Union Territorics

Select the correct answer using the code
given below.

fa)
(b)
]
(d}

1 only

2 and 3 only
1 and 3 only
1,2 and 3

13. What is/are the importance /importances
of the .United Nations Convention to
Combat Desertification™

: 7

It aims to promote effective action
through innovative national
programmes and supportive inter-
national partnerships.

It has a special/particular focus
on South Asia and North Africa
regions, and its Secretariat
facilitates the allocation of major
portion of financial resources to
these regions.

It is committed to bottom-up
approach, encouraging the partici-
pation of local people in combating
the desertification.

Select the correct answer using the code
given below,

(a)
(b)
(c)
fc)

1 only

2 and 3 only
1 and 3 only
1,2 and 3

B-APM-P-CKB/65A

14. Recently, which one of the following
eurrenciecs has been proposed to be
added to the basket of IMF's SDR?

()} Rouble
fb) Rand
fc}  Indian Rupee
fdd) Renminbi

15. With reference to the International
Monetary and Financial Committee
(IMFC), consider  the following
statements
1. IMFC discusses matters of concern

affecting the global economy, and
advises the International Monetary
Fund (IMF] on the direction of its
work.

The World Bank participates as
observer in IMFC’s meetings.

Which of the statements given above
1s/are correct?

(a)
b}
el
(d]}

1 only

-2 -only

Both 1 and 2

Neither 1 nor 2

16. “Rashtriya Garima Abhiyaan’is a national
campaign to -

fra)

B}

fcl

fel}

rehabilitate the homeless and
destitute persons and provide them
with suitable sources of livelihood

release the sex workers from their
practice and provide them with
alternative sources of livelihood

eradicate the practice of manual
scavenging and rehabilitate the
manual scavengers

release the bonded labourers from
their bondage and rehabilitate
them
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17. With reference to the cultural history of

medieval India, consider the following

statements :

1. Siddhas (Sittars] of Tamil region
were monotheistic and condemned
idolatry.

2. Lingayats of Kannada region
questioned the theory of rebirth
and rejected the caste hierarchy.

Which of the statements given above
is/are correct?

fa) 1 only

fb} 2 only

fej Both 1 and 2
fd] Neither 1 nor 2

18. Which of the following best describes the

term Gmport cover, sometimes seen in

the news?

fa] 1t is the ratio of value of imports
to the Gross Domestic Product of
a country

(b} 1t is the total value of imports of a
country 1n a year

fe) It is the ratio between the value

of exports and that of imports
between two countries

(d) 1t is the number of months of
imports that could be paid for by
a country's international reserves

19, Consider the following pairs :

Commurity sometimes in the affairs of
mentioned in the news

1. Kurd : Bangladesh
2. Madhesi : Nepal
3. Rohingva Myanmar - ——

Which of the pairs given above isfare
correctly matched?

fa) 1 and 2
fb] 2 only
fe) 2 and 3
] 3 only

B-APM-P-CKE/65A
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With reference to ‘Organization for
the Prohibition of Chemical Weapons
(OPCW), consider  the following
statemenis :

1. It is an orgamezation of European
Union in working relation with
NATC and WHO.,

2. It monitors chemical industry
o prevenl new weéapons [rem
emerging.

3. It provides  assistance and
protection to States ([Parties)
against chemical weapons threats,

Which of the statements given above
isfare correct?
fal 1 only
fB) 2 and 3 only
fe} 1 and 3 only
fdi 1,2 and 3

21. With reference to ‘Pradhan Mantri Fasal

Bima Yojana', consider the following

statements :

1. Under this scheme, farmers will
have to pay a uniform premium of
two percent for any crop they
cultivate in any season of the year.

. 2. This scheme covers post-harvest

losses arising out of cyclones and
unseasonal rains,

Which of the statements given above
is/are correct?

fa) 1 only

fb) 2 only

fc) Both 1 and 2

fd) Neither 1 nor 2

22, In which of the following regions of India

—“are you most likelyto come across the

‘Great Indian Hornbill' in its natural

habitat?

fa) Sand deserts ol northwest India

(bj Higher Himalayas of Jammu and
Kashmir

(¢ Salt marshes of western Gujarat

(d] Western Ghats
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23. Which of the following are the key 26. With reference to ‘Stand Up India
features of ‘National Ganga River Basin Scheme’, which of the [ollowing
Authonty [NGRBA)™? statements is/are correct?

1. River basin is the unit of plann‘:ng 1. its pPuUrpose 15 to promote
and management. enireprencurship among SC/ST
2. It spearheads the river conser- and women entrepreneurs.
vation efforts at the national level. 2. It provides for refinance through
3. One of the Chief Ministers of the SIDBI.
States through which the Ganga )
flows becomes the Chairman of Select the correct answer using the code
NGRBA on rotation basis. given below.
Select the correct answer using the code fa) 1 only
givenn below, (b} 2 only
fa) 1 and 2 only fe) Both 1 and 2

(b) 2 and 3 only
fe 1 and 3 only

{d 1,2 and 3 27. The FAD accords the status of ‘Globally
Important Agricultural Heritage System
(GIAHS)" to traditional agricultural
systems. What is the overall goal of this
initiative?

{d) Neither 1 nor 2 :

24, Why does the Government of India
promote the use of ‘Neem-coated Urea’
in agriculture?

{a) Release of Neem oil in the soil

increases nitrogen fixation by the 1. To provide modern technology,
training in modern farming

methods and financial support to
local communities of identified
GIAHS so as to greatly enhance
their agricultural productivity

soll microorganisms

{bj MNeem coating slows down the rate
of dissolution of urea in the sail

fef  Nitrous oxide, which is a
greenhouse gas, is not at all

released into atmosphere by crop 2. To identify and  safeguard
fields eco-ifriendly traditional farm

practices and their associated
landscapes, agricultural iodiversity
and knowledge svstems of the local

{d} 1t is a combination of a weedicide
and a fertilizer for particular crops

258. Consider the following statements : communities
1. The Chief Secretary in a State is 3. To provide Geographical Indication
appointed by the Governor of that status to all the wvarieties of
State. agnicultural produce in  such

identified GIAHS g

2. The Chief Secretary in a State has
a fixed tenure.

————— i p—

Select the correct answer using the code

Which of the statements given above . given below.
R CIECY fa) 1 and 3 only
fa] 1 only

irb., 29 ﬂnl}" frbj 2 'I'.'H'].]_"}'

fc) Both | and 2 fe} 2 and 3 only
{d} Neither 1 nor 2 ) 1,2 and 3

B-APM-P-CKB/65A 10
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23, fefafima § 4 s9-d, ‘wia T 96 akE

ifiwAm  [National Ganga River Basin

Authority (NGRBA)|' # wi@ fasmand §7

1, =@ afim, 979 vg yEeE & 59 B

2. WR TEE T W A4 W gEmE H
s Tl R

3. NGRBA =1 318944 & En 1

o TS H HEEEd HOH OF g g,
o B et 2

Fr o o w2 = v wwd I g
fa) FEA 1 31 2
(b) +a9 2 F 3
¢} F=d 1 3R 3
(d 1,2 303

24. WA @R 4 do-deita g (Neem=

coated I_Irﬂ.'a]r F IWM FH WraiEd

Exild

fa) 91 ® dm TE F FHE @ A @
gl g ATgeres A ggm 2

(b) W\ w4, wE A g F ges fw R
o # e

fc) +5EE aigEgs, S v dwEEs W g,
FHE 9T Wil 8 ggase d faerga

() fatm wual % fau 98w sguEEh
(difgurgz) v uF IaTE %1 HAE B

25. fF=ffiaa ==& w faem Hifdw .

1, THE e A gen wiem oI TS w
TsyaTE 30 g R w2

2. T § gey wfEm w1 fEn weEw
Bt 2 :

e Fudl § A FR-w 4 ) R/RY

fa) FAA 1 '

(b} G 2

fe) 1 3R 2 2AT

(d) ad 1,78 2

B-APM-P-CKB/65A
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26. = %Y M =W (Stand Up India

Scheme) ¥ @ed # fisfafaa =9=t 8 @

HA-91 /8 Tt 327

1. ¥H® WEI9A SC/ST U9 Higen A= §
FeIf 1 Weded w6 2

2. #% SIDBL % mgw § gafdd @ wEum
&l 1

e fR e g wEr = wE I g
fa) & 1

fb) EE 2

fe) 1323

fd) A 1,Ad 2

27. FAO, Wi Fi yonferd &) e w1 8

mgEf  wE TEOEE 9El [Globally

Important Agricultural Heritage

System (GIAHS)] # 2fma 2R =@ 2

wd IR o A W w B

1. AfafuiiE GIAHS + Ty agemt =
smgfE i, snyfe % gomeh =
g va o wema g8 wen faad
IR FY IEEal AHEE qg HIY

2. uiiteE-srgEel wemrE Fw5Y aghal @i
T HeltE uigs (dEw), $HoSE
‘Tt v wEE wEE % yEE W
stfafraion wE @em =@l

3. A vEn AnmiE GIAHS % B fim-
fim #f wwEl ® difes e
(Frafmfeaa ferem) 6 B wEm
E2ci I

A2 fay o g2 1w = wd 39t g
faj F=7 1303

(b) FEA 2

o} EE 2 3 3

(d) 1, 2313

Sl B s )
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2B. Which of the following is/are tributary/ d0. Consider the following pairs :
tributaries of Brahmaputra? . ; ;
: : Terms sometimes Their ongin
1. Dibang seen in the news
2, Kameng 1. Annex-1 Countries : Cartagena Protocol
; 2. Certified Emissions
3. Lohit Reductions : Nagoya Protocol

3. Clean Development

Select the correct answer using the code .
y & Mechanism :  Kyoto Protocol

given below.

faj 1 only Which of the pairs given above is/are
correcily matched?

(b} 2 and 3 only (@ 1and 3 ooty

(e 1 and 3 only (b} 2 and 3 only

fefy 1, 2 and 3

fc) 3 only
29, The term ‘Core Banking Solutions’ is (d) 1,2 and 3
sometimes scen in the news. Which of
the following statements best describes/ 31. In the context of the developments in
describe this term? Broinformatics, the term ‘transcriptome’,

i, It is a networking of & bank's sometimes seen in the news, refers to

branches which enables customers ; fal a range of enzymes used in genome
to operate their accounts from any editing
branch of the bank on its network
regardless of where they open their (b} the full range of mRNA molecules
accounts. expressed by an organism

2. It is an effort to increase RBI's fc) the description of the mechanism of
control over commercial banks EENE eXpression

through computerization.

. , ) fd} a mechanism of genetic mutations
3. It is a detailed procedure by which ; taking place in cells

a bank with huge non-performing

assets is taken over by another e
Rk 32. ‘Mission Indradhanush’ launched by the

Government of India pertains to

Select the correct answer using the cod fa) immunization of children and

pregnant women

faj 1 only ' (b} construction of smart cities across

the country
(b 2 and 3 only

fe] India’s own search for  the
e/ 1 and 3 only Earth-like planets in outer space

fdl 1,2 and 3 fd) New Educational Policy

B-APM-P-CKB/65A 12-
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28. Fefafias A | =46, w@g ) wEEE T

& [Afea 87
1. Te=m
2, @
3. Wifea
419 T e g . v = w3 g
fa) FaE 1
(b) FaEd 2 3R 3
= (cj w133
fd 1,233
29. ‘®N @1 ®WWEH (Core  Banking

’ Solutions) 92 H4l-| warEW A Zar T
' 21 Frefefan = § 8 99-91/8 38 | ®
wel T FO B /H 87
— £,
" IERIAT W A ' W HEEE 696
' £ el off i § = o9 = g
T 2 AR IR AuE g W o @9
e i
© 9. uR EuEE G W wEE &
Ay # RBI & fFoam mR oW o=
TR £
w2 us frga whem & fes a0 e
AE (A=) e 9w 9w
1 Fitmew et 4% g = fom a7

» Fr fou o F=2 =R wg F=OEE T g

L

5 TR, [

fa) FdE 1
(b} A 2 #M 3
fc) Thaw 1 #W 3

| G

i

[d 1,203

:\-i!-l-q-j:'

e

B-APM-P-CKB/B65A
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30. T=iataEa gm W faEm i .
wedt-weft vuTEw | 2| HE A =€
T ATH 155

1, THEE-1 39
2. WA IdeE el oal
(afwEs o
Trzama)
3. Ta= famg frfafa
(T SaeEe
Tekfee)

9w A | FR-91/A g9 w0 gRfaa /87
fa) EA 1 302

(b} Fae 2 3N 3

fc) +F4 3

fd) .1, 2 3R 3

31. 39 TEN-faam (SEEwmfeaa) # az?mﬁif-
nafafy & ded 4 womEn 4 wh-ef s
el 9% TEGEREE (transcriptome) Y
Fafer =m 27
@ M HuEm (AW fEfen) # g
UARH 1 T Sof

(b} Tl < gm wfisrs mRNA s
T Aae

je) R fisafr € el = v

() FfiEns # w1 9 e efE
1 U TraTeia

- FElEE SR
- AT VR

: EE) R

32. WG WER 0 e e gy’ el
Hafim 27

(a) = AR A Rigen = gl
b) @ =m A wnd faf w P

(c) =R Ak § ge-wam ud % R v
%1 =9 & @4

(d) =3 faran-itfa

[P.T. O.


Sunil Kumar


Sunil Kumar
General Studies - 2016                                      studyfry.com


General Studies - 2016

33. ‘Which of the following best describes/

34,

describe the aim of ‘Green India
Mission® of the Government of India?

1. Incorporating environmental benefits
and costs into the Union and State
Budgets thereby implementing the
‘green accounting'

2. Launching the sccond green
revolution to enhance agricultural
output so as to ensure food
security to one and all in the future

3. Restoring and enhancing forest
cover and responding to climate
change by a combination of
adaptation and mitigation measures

=Select the correct answer using the code
given below,

{a) 1 only

fb] 2 and 3 uniy
fc} 3 only

fdl 1, 2 and 3

With reference to pre-packaged items

in India, it is mandatory to the
manufacturer to put which of the
following information on the main
label, as per the Food Safety and
Standards (Packaging and Labelling)
Regulations, 20117

1. List of ingredients including
additives

2. Nutrition information

3. Recommendations, if any, made by
the medical profession about the
possibility of any allergic reactions

4,  Vegetarian/ non-vege tan an

=

Select the correct answer using the I:EI-I:IE
given below,

fa) 1, 2 and 3
(b} 2, 3 and 4
fey 1, 2 and 4
{dj 1 and 4 only

B-APM-P-CKBE/65A
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35. Project Loon', sometimes seen in the
news, is related to

() waste management technology
(b} wireless communication technology
fe] solar power production technology
fd) water conservation technology

36. Nect metering” is sometimes seen in the
news in the context of promoting the

fa)] production and use of solar energy
by the houscholds/consumers

() use of piped natural gas in the
kitchens of households

fc)  installation of CNG kits in motor-
Cars

(d] installation of water meters in
urban households

37. India’s ranking in the 'Ease of Doing
Business Index’ is sometimes seen in
the news, Which of the following has
declared that ranking?

fa) Organization for Economic
Cooperation and  Development
OECD)

{b) Waorld F'Eﬂnnnmi-: Forum
fe) World Bank
[d} World Trade Organization (WTO)

33 Banjaras during the medieval period of
Indian history were generally

fa) agricultunsts
(b) warriors

(el weavers

{d] traders

14

W midaliih

39. Who of the following had first deciphered
the edicts of Emperor Ashoka?

fa) Georg Biihler
fb) James Prinsep
fel  Max Miller
{d) William Jones

‘ i
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33. Tr=fafaas § 8 F9-9/4 9 §En % whE
Wi 19 (Green India Mission) #F 3£74
F) watan w9 4 aflg Fom 8 /F 87
1, uyfig @l @ @ ® o T O
¥ 3wz & uffifew #d gu A0 E@

wEE (A @Rk = oame § o

.ﬁ'['q'[

2. i wE % dodh ¥ fefw sfe wl
s wen fomd afas 7 wdfl ¥ fou
g g g @

3. @ HArESE i gEuiE e FEdE w0
AU FEeR  (#WeL M) ud A
(fafrem) 5 wgm w8 Sy
qftada =1 wrga &

= fin g g = W =R I g

() Fad 1

(b} FEA 2 #H1T3

el *ad 3

(d 1,2#3

34. wia §, @-vaftn (Hidse) TwgH % wed A
am g i oA (SERm e eal)
fafaw, 2011 % wgan fedt fafa = 9=
dam W fymfefas 4 @ F9-d g=n s
AT fad 77
1, dued &) g, Fewed wareh i @
2. drm-fawrs g2
3. Tafre =ggem g & o el wemil

wfafEm &1 dwa o+ w9 7 g,
42 =g &
4, wreRrerd) ATETE

2 fou o g2 W WA @ HE I g
@ 1,2 3n3
) 2,334
e} 1,2 304
(d) *ad 1 34

B-APM-P-CKB/65A
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wfl-wfl waEE # R oam uem @

(Project Loon) HEldd 2

() afime-vEA dafE |
(b) AR-HE wRnfrE

(e} AR FE FEEs G 8
(d) e -Hean SR 9

Fofl-wft wyEd §0 S dRfm (Net

metering) Fefafiaa § @ fras denfa
F4 % "o # <@ ow 87

{a) T/ I0IRIRT B W Sl W 3T
R T

fb) T F TEEE] B upE TR W oW
ECCIL

fc) wrzwmigE # CNG fre @mEm
(d) TED "9 H 9% e TEE

‘TR FA - gl w1 gEwE (Ease of

Doing Business Index)’ # WRa I &0
waEn-gE § #fl-wft famdt @) Fosferfan 8
# famr za 1 & g A 27

(a) =nfdF weam o fasm ®789 (OECD)
(b) Tam =i =79

) Taud=

(d) Tam =R W= (WTO)

gl TR % mwwm 0 sl "qeEa: -

& 47

. (a) FIF

(b) THE

(e} FTHL
(d) =]

. WHE g % Uwedl w el e e

(fammgs) PR e @?

fa) =ia g5
(h) =em ToEm

fc) HEH TN
(d) Tataas s
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40. With reference to the ‘Gram Nyayalaya

Act’, which of the following statements
is/are correct?

i. As per the Act, Gram Nvayalayas
can hear only civil cases and not
criminal cases.

2. The Act allows local social activists
as mediators/reconciliators.

Select the correct answer using the eode
given below. :

fa} 1 only

bl 2 only

fe} Both 1 and 2

{d} Neither | nor 2

With relerence to the ‘Trans-Pacific
Partnership’, consider the following
statements

1. It is an agreement among all the
Pacific Rim countries except China
and Russia.

2. It is a strategic alliance for the
purpose of maritime security only.

Which of the statements given above

isfare correct?

{a} 1 only

fb] 2 only

fc) Both 1 and 2

{d} Neither 1 nor 2

42. Consider the following statements :

The India-Africa Summit

1. held in 2015 was the third such
sSummit

2. was actually initiated by
Jawaharlal Nehru in 1951 ——

Which of the statements given above
is/are correct?

faj 1 only

(b} 2 only

fej Both 1 and 2
fd} Neither 1 nor 2

B-APM-P-CKB/65A
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43. What is/are the purpose/purposes of the

‘Marginal Cost of Funds based Lending

Rate (MCLR}' announced by RBI?

1. These guidelines help improve the
transparency in the methodology
followed by banks for determining
the interest rates on advances.

2. These guidelines help ensure
availability of bank credit at
interest rates which are fair to the
borrowers as well as the banks.

Select the correct answer using the code
given below.

fal 1 only

fb) 2 only

fc) Both 1 and 2

fd} Neither' 1 nor 2

44. What is/are unique about Kharai came]’,

a breed found in India?

1. It is capable of swimming up to
three kilometres in seawater.

2. It survives by grazing on mangroves,

3. It lives in the wild and cannot be
domesticated.

Select the correct answer using the code
given below.

fa) 1 and 2 only

fb} 3 only

fej 1 and 3 only

fd} 1,2 and 3

45. Recently, our scientists have discovered

a new and distinct specics of banana
plant which attains a height of about
11 meires and has orange-coloured fruit
pulp. In which part of India has it been
discovered?

fe) Andaman Islands

{b}] Anaimalai Forests

fc} Maikala Hills

(d] Tropical rain forests of northeast
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40, ‘mm ~ETem wiufEm’ ¥ e 8 Frafafam
FuE! § # wE-E/Y 98 2R

43. RBI g 9if4n S =i Hi9@ @ W sy
. 39r{l ¥ [Marginal Cost of Funds based

ey Y e e e LW

=, - | SRRl T

R .

1, %R YFER F ORI e Hed

fafoer wme f gaad w0 wwA R,
sl e = T
9. @& #EFEm  wdw wwleE
- glwEAETEEt 1 woRs [geeeal % w9
H st = 2

ﬁﬂ'ﬂﬁﬁﬂ:
1. 48 =9 30 55 T BiEE Y UEHTR

1. 12015 % gen, diua veem @1

D, ) yEAW IR B 1951 H SEEEr
FEE T w0 o

R EE R e R

Lending Rate (MCLR)] #1/% 3y 0

B/a?

1. 4 fEanFEm a1 == =1 faifm w0
B A% w0 s s fafy # owefif
qAGH H WeE w8

2. A RwmiEn 4% wm ) IgeEm

A3 fay - | =T i W gifam F 4 eg w0 E A
i At F SR A UE 9 SE o e
(a) FEa 1 5
Rl waa 3 o g =z 1w = e g
fe) 1 R 2 =M
(@ Fd 1,2 o 1
: (b) e 2
41, Tw-YRufEEs  gEiEm (Trans-Pacific o) 1 % 2@
Fartnnmhip}rﬁﬂlﬂﬁﬁﬁﬁ%ﬂﬂ?ﬂ?ﬁm (@ HA 1,82

44, WG 0 98 W Tt 9w, w52 E T i

adr ot 2 ¥ wey v wwehe B I #9827
0. W® waw uzadl @ F TEEE @ 1. 4% 90F- § oF e & o 3
| HHEE TEEE B T £ |
Wﬁﬁﬁﬁﬁhﬂ-mfﬂ'ﬂﬁ%ﬁ? 2. ?mlmangraues]ﬁwﬁmﬁﬁm
| -
i Wbl 3. 42 wrelt g @ 3R e e s S
fb] 2 A B .
o (1nge R R e 2 1 e g
@ AR, 382 (a) F=d 1 3l 2
42. Tr=fefan Huat @ e Hif (b) et 3
wia-anfe fire wdem  (dfe-snde (c) Fae 1 3l 3
HiHR) ' d) 1,233

45. T B W B AwEE A FE F Y ) T

i fip =i 1 @i it @ Faeeht S e
11 92 e =l @ of 36F e w1 e
T B AR aid & fee wm 8 @l nd 29

(a) FeE 1 (a) =AM EM

(b) e 2 | (b) TS =

e} 13 2 EH (o) WA vEiEEl

[d A®M1,A8.2 (d) T FERZEdE e
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46. Which onc of the following is the best
description of INS Astradharimi’, that
was in the news recently?

fal Amphibious warfare ship
(b} Nuclear-powered submarine
(e Torpedo launch and recovery vessel

(d) Nuclear-powered aircraft carrier

47. What 1s ‘Greased Lightning-10 (GL-10}",
recently in the news?

fa} Electric planc tested by NASA

fb] Solar-powered two-seater aircraft
designed by Japan

fe} Space observatory launched by
China

{d} Reusable rocket designed by [SRO

48, With reference to ‘Tnitiative for Nutri-
tional Security through Intensive Millets
Promotion’, which of the following
statements isfare correct?

1. This initiative aims to demonstrate
the improved production and post-
harvest technologies, and to
demonstrate value addition
techniques, in an integrated
manner, with cluster appreoach.

2. Poor, small, marginal and tribal
farmers have larger stake in this
scheme,” ik Pt T

3. An important objective of the
scheme is to encourage farmers of
commercial crops to shift to millet
cultivation by offering them free
kits of critical inputs of nutrients
and microirrigation equipment,

B-APM-P-CKB/68A
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Select the correct answer using the code
given below,

(a)
()
(c)
(d)

49, The

1 only
2 and 3 only
1l and 2 only

1, 2 and 3

‘Swadeshi’ and ‘Boycoit’ were

adopted as methods of struggle for the
first time during the

fa)

(b}
fc)
(d}

agitation against the Partibon of
Bengal

Home Rule Movement
Non-Cooperation Movement

visit of the Simon Commission {o
India

50. With reference to the religious history
of India, consider the following
slatements :

1,

The concept of Bodhisattva is
central to Hinayana sect of
Buddhism.

Bodhisattva is a compassionate one
on his way to enlightenment.

Bodhisattva delays achieving his
own salvation to help all sentient
beings on their path to it.

Which of the statements given above

is/are correct?

1 only
2 and 3 only
2 only

1, 2 and 3

£=

FEEe —— o
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46. 'INS muiol’ =1, T e @ 4 Ty 6

T3 gen w1, Frefafad # 4 FE-9 adew

© g R

(a) IR LEUR
() AT wiE-Tiea Tge

fc) ZdiEl wirEd it AU (recovery)
EEEIE

fd nhERE wiw-afen e -ams

47. ‘=g @EEAM-10 (GL-10), Tsf= 7@ & |

AR § I3 g, w6 87
(a} NASA g1 wida g e

(b) =M g feemEa fEn o On ofE @
g Fren 31 92l =en famE

fc) =F T = A T afte Saeme

(d) I1SRO T feamg & m g
e

48. 'TEd FEW HarA & AIEE | M gien g e

(initiative for Nutritional Security

through Intensive Millets Promotion)’

& wad § efafas sei 4 % F9-m/8 w68

B/E7

1. T UEA W ey @4 IEEA AN
F2n-Imw defifEat & e w
2, U gug WY (A S9E) F W
wHEd Ofd & v = A #
frefifa = 2 |

2, @ aEwen § fiedw, ey, @ e s
Tramt it wdt femafien (RF) 21

3. @ A= w UE w3t et
Fael & fraw w5, TeE F AEE
s & = =g fed IwEn F
fyes e wmr =, F33 & =@d H
R Hrewnfea #6021
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i T Ty g2 = v e wEl I ghy
(a) *EA 1

(b) THad 2 30 3

fe) Fae 1 3R 2

fd) 1, 23R 3

49. ‘vl s SEwmn weeh an e s &

arm \ed i Tl % s 8§ s e 47
faf = e % faeg AR

(b) TM e AR

fe] SAHEEN HiEEA

(e} TEHA FHEH = WA T=

50. A # wifife sfowm & we 7 Fwafafan Fud

@ famm #ifm ¢

1. wigEw, deWa ® R weE
HETa T £

2. witwEE A WaM & T T Sge g
FEAY B |

R |

wE" % e W AwA W HEEd WA &
e = 6 Faato e famiem = 2

T weE A FR-m/E wd ¥
fa) FaE 1

(b) Fad 2 ¥R 3

fc} AT 2 -

(d) 1,2 313
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5l. ‘Doctors Without Borders {Medecins Sans

52.

53.

Frontieres)', often in the news, is

fal a division of World Health
Organization

fb} a non-governmental international
organization

fej anm Inter-governmental agency
sponsored by European Union

fdi a specialized agency of the United

Nations
With reference to an initiative called
The FEconomics of Ecosystems and
Biodiversity (TEEB), which of the
following statements is/are correct?
1. It is an initiative hosted by UNEP,
IMF and World Economic Forum.
2. It 1s a global initiative that focuses
on drawing attention to the
cconomic benefits of biodiversity.
3. It presents an approach that can
t help  decision-makers recognize,
demonstrate and capture the value
of ccosystems and biodiversity.
select the correct answer using the code
given below. z
fal 1 and 2 only
fb) 3 only
fe) 2 and 3 only
fdl 1,2 and 3
With reference to ‘Red Sanders’,

sometimes seen in the news, consider
the following statements :
1. Itisa tree species found in a part of
- South India.
2. ltis one of the most important trees
in the lropical rain forest arcas of
South India. i

Which of the statements given above
is/arc correct?

.

{a) 1 only

{b} 2 only

fc} Both 1 and 2
(d) Neither 1 nor 2
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54. Which of the following statements is/are

correct?

Proper design and effective implemen-
tation of UN-REDD+ Programme can
significantly contribute 1o

1. protection of biodiversity

2. resilience of forest ecosystems

3. poverty reduction

Select the correct answer using the code
givenn below.

faj 1 and 2 only

(b) 3 only

fe] 2 and 3 only

fdj 1,2 and 3

55. What is ‘Greenhouse Gas Protocol™?

56,

With reference to
and Development Council’, consider the -

fa} It is an international accounting
tool for government and business
leaders to understand, quantify and
manage greenhouse gas emissions

(b} It is an initiative of the United
Nations to offer financial incentives
to developing countrics to reduce
greenhouse gas emissions and to
adopt eco-friendly technologics

fe) It is an inter-governmental
agreement ratihed by all the
member countries of the United
Nations to reduce grecenhousc gas
emissions to specified levels by the
year 2022

{d] It is one of the multilateral REDID+
mitiatives hosted by the World Bank

‘Financial Stability

following statements :

1. It is an organ of NITI Aayog.

2. It is headed by the Union Finance
Minister.

_3.__It monitors macroprudential super-

vision of the cconomy.
Which' of the statements given above
is/are correct?
faj 1 and 2 only
(b) 3 only
{c) 2 and 3 only
({d} 1, 2 and 3
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51. Doctors Without Borders (Medecins
Sans F=‘t'rmtif:]'w:&:]'1 ot WA HRER A &
i
fa) Taw w@mre G0es =1 T 9P
(b) TE - AW wE
(c) T w9 T wERE uE e
 TEE
(d) T T O R T

52. wififa wa F@ fRwm # #dEd [The

Economics of  Ecosystems  and

Biodiversity {TEEB)] 719% Uga % ded 4

frforfan womt & @ =9-31/8 w287

1. 9% U% UEd g, 9@l HEErl UNEP,
IMF mE faw @sfds 499 (World
Economic Forum) %0 &1

2. 98 % fywendt ugd &, & @9 fAfum |

& =nidE Tl & wli s asiia W=

o Hiza £

3. W% UE WEW gEqE w8, @ T
A W fafavm % = € e, Tl
sﬁvmﬁuﬁwﬁﬁmﬁaﬁﬁlmm

Tl 2|

ﬁﬁqmﬁmmﬁmﬁ{gﬁm

(@) a7 1 3 2
(b Faw 3

jo) aEw 2 i3
(d) 1,2 2m 3

o S R N S S M

(Red Sanders) ¥ @ad 1 Frsfafas w4

03 feram $ifan .

1. =% =iam vra & o WM d uE 9 aref)
UF 34 A0 R

2. R =M va % womlEdy agie &
% wAfer wevagel 9.1 T @ T B

I AT A W FE-AE AR

fa) waE 1

(b) =HEE 2

fe) 1 328

fd) A@ 1,962
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54, Trfafaa wudl 8 8 Fa-m/d wd 287

UN-REDD+ Wi =+ ggfa sifimewn ain

FuTE FEEEE HEEY ®9 § AEF € w9
1. == fafaus = g 50 9

2. 73 yiidestad = ageamsfem 4

3. TilEl R A W

e fom o s ) wEen w wd I g
ja) F=A 1 w2
{b) Fad 3

fc) #+aa 2 3w 3
fd 1,233

55. e T W (Greenhouse Gas

Protocol)’ #11 #7
(a) U8 WER UE FEEE

T HHiga erarE e

P W A
Afrdt & o dreeg 79 sk #
Huyﬁw&nmﬁﬂfﬁﬂﬁﬁqaﬁm%g

(b) TE UWeEed "M 39 F 59 $0 ain
it - Aggd Wenfifat w1 s ¥
fermei| 2 = e o W=
FA ) T TY ) UF yEe B

fc) @2 94 2022 9% MHeEa W IoasE F)
u e w o %0 w0 3y 6g U
% wll wem A W sigenflo W
STTHEIT AN 8

(d) @r fom &% Tm O sgesf REDD+

YRS H W UE B

56. T Erm v Fwm o 1Financi&i
Stability and Development Council) &

mﬂﬁﬁmﬁﬁamwmﬁw#ﬁq
1. =g fifa (NITI) smEm = s e R
"4 =1 fom o g wya g 2

b

3. F@ HdeErd & wofe gfads (BE)-
yefe) widey % agEam (gifefn)

F=A B

T9EE FY 0B BN Fr,fﬂﬂf‘%f%?
(@) FEA 1 N2

(b) *de 3

¢) +ad2 303

(d) 1,2 3R 3

[ BTk
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57. With reference to ‘Agenda 21°, sometimes

seen in the news, consider the following
statcments

1. It is a global action plan for
sustainable development.

2. It originated in the World Summit
on Sustainable Development held
in Johannesburg in 2002.

Which of the statements given above
isfare correct?

fal 1 only

(b} 2 only

e} Both 1 and 2
fd} Neither 1 nor 2

'58. Satya Shodhak Samaj organized

fa) a movement for upliftment of
tribals in Bihar

(b) a temple-entry movement in
Gujarat

fc) an  anti-caste movement in
Maharashtra

(d) a peasant movement in Punjab

59, Which of the following statements is/fare

correct?
Viruses can infect
1. bacteria

2. fungi
3. plants

~” 'Select the correct answer using the code

given below.

fa} 1 and 2 only

fb) 3 only
fe) 1 and 3 only
fdl 1, 2 and 3

B-APM-P-CKE/65A
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60. The term ‘Base Erosion and Profit

Shifting’ is sometimes secn in the news
in the context of

(@) mining operation by multinational
companics in resource-rich but
backward arcas

(b) curbing of the tax evasion by
multinational companies

fc) exploitation of genctic resources
of a country by multinational

companies
fd) lack of consideration of
environmental costs in the

planning and implementation of
developmental projects

India's first ‘National
Investment and Manufacturing Zone’
was proposed to be set up in

fa) Andhra Pradesh
(b} Gujarat

(e} Maharashtra
(d) Uttar Pradesh

62. What is/are the purpose/purposes of

District Mineral Foundations'in India?

1. Promoting mineral explaration
activities in mineral-rich districts

2. Protecting the interests of the
persons  affected by  mining
operations

State ' Governments
licences for mineral

3. Authorizing
ta  issue
exploration

given below,

fa) 1 and 2 only
fb} 2 only

{c) 1 and 3 only
({d 1,2 and 3
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57. i A wfwdt fwm w@ ‘wEE o)
. {Agenda 21) & @l § Frafafas 99 m

fornw iforg
1. TR ufm BEm ¥ f%m TE aAfiE
FHE-AE 2

2. 2002 A seFEEE | gy anoiE s @
faw fimat 9@4 (World Summit on
Sustainable Development) § 3
I g

I Al B FE-EE W R

fa) Fad 1

b} a2

fe) 13T 2EH

(@ Fd 1,382

58. W WU TEME A @niea o
(@) TEm B el & = =1 =
HiaTer
(b) A ¥ HiT-mEm W 0 SR
(c) WERTE H U wa-fEdt anEem
(d) woE A U R e |

59, F=fafen wal 8 @ Fw-w /A ud 257

. T wElE 9 uEa E

1. sfaEms =
2. FEEH H
3. TEd

H4 T z @ wm wwd ew gR)
(a) %Ew 1 ¥R 2 '

(b) FEH 3

(c) Fa@ 1 #HR 3

d 1,23m3
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60, o=l H wi-wedl 3@ W 9. ‘wum gm o
sl ¥ (Base Erosion and Profit
Shifting)’ & %1 F0 T 7

(a) wemE-wE fig Fed adl i spnda
ol g A w

'rh,ia@rrahmﬁaﬁgmﬁsquﬂﬁaﬁ-
Fl-39E9T T YTqEy @A

(c) #EE Ff ogm el o &
ATEEE FmyAl F1 9

(d) @ wfigea 6 9 ©@ st
o ygraniE @l & a5 swe

61, e # ® WA | wum ‘i fEw s Rfmi

R (National Invesiment arnd
Manufacturing Zone)' %1 74 F#l fFu
o = T weame femn mn

fa) 309 929
(b) T
fc) HETTE
(d) I wEW

62. WA # ﬁwaﬁﬁm{%@aﬁm

FISST) /% It w0 /R

1. af=-wa faet & wfe-gm g9
Toramreml =1 Wenfee s

2. @HE-=E 4 uwifym @i & R 6o
ety :

3. U WA % Gie-"E & b wedy
frfa =0 % T siftea wen

ﬁﬁnﬂq@mmﬂﬁﬁﬁmaﬁm
fa) =EE 1 3T 2

(b) wEd 2

fe) A 1303

fd) 1, 24R3
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63. SWAYAM', an

64. The

B65.

initative of the
Government of India, aims at

() premoting the Self Help Groups in
rural areas

{b) providing financial and technical
assistance to vyoung start-up
entrepreneurs

fcj promoting the education and
health of adolescent girls

(d} providing affordable and quality
education to the citizens for free

Meontague-Chelmsford
were related to

(a) social reforms

{b) educational reforms

fc¢) reforms in police administration
{d} constitutional reforms

Proposals

What is/are common to the two historical

places known  as
Mahabalipuram?

1. Both were built in the same period.

2. Both belong to the same religious
denomination.

3. Both have rock-cut monuments.

Ajanta  and

Select the correct answer using the code
given below,

fa) 1 and 2 only

(b} 3 only

fei 1 and 3 only

{d) None of the statements given above
is correct

66, With reference to ‘Bitcoins’, sometimes

]

seen in the news, which of the following
statements is/are correct?

1. Biteoins are tracked by the Central
Banks of the countnes.

2. Anyone with a Bitcoin address can
gend and receive Bitcoins from
anyone else with a Bitcoin address.

3. Online payments can be sent

without either side knowing the
identity of the other.

B-APM-P-CKB/65A
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68. 'Gadgil

Select the correct answer using the code
given below.

(@) 1 and 2 only
fb) 2 and 3 only
fci 3 only

(d) 1, 2 and 3

67. Consider the following statements :

1. New Development Bank has been
set up by APEC.

2. The headquarters of New
Development Bank is in Shanghai.

Which of the statements given above
is/are correct?

faj 1 only

(6} 2 only

fet Both 1 and 2
fd) MNeither 1 nor 2

Committee Report’ and
Commitiee  Report’,
in the news, are

‘Kasturirangan
sometimes scen
related to

fu) constitutional reforms

(b Ganga Action Plan

fc) linking of rivers

fd) protection of Western Ghats

69, Consider the following

1. Calecutta Unitarian Committee
2, Tabernacle of New Dispensation

3. Indian Reform Association

Keshab Chandra Sen is associated
with the establishment of which of
the above?

fa) 1 and 3 only
b} 2 and 3 only
fej 3 only

fd) 1,2 and 3
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63. 9F0 GEN F TH YEA SWAYAM' F ey

Co il X

fa) T & B wE-mEEW W W)
TieenTea

(b} @ wE-wyrll (wd-am) gl oW
o™ UE TR WEahT S9ee Al

(c) TaEmie 6 e @ W% w@we W
T AT

fd) TR 61 98T F 9 v qoEe S
T Ty ey SO

64, Ai--=rEEE TEE T gl a7

(m) WIS HUT

(b) e gum

fc) gfera yamEA # guR

(d) wfanfEE qun
TEECYH % w9 H 3w 9 e
H ¥ wE-dt T/ aem 87

1. @H O ¥ angs § i go 4
2. a1 F v wififs gEm @ dEg 2
3, Nt § T v §)

i fan 1o 7z =1 wm = T I ghn
(@) Fa= 1 3w 2

(b) W@ 3

fe) Faa 1 37 3

(d) T weEl § W FE o wh A R

66. Ti-w=fl mTumEEl 4 wP 9@  ‘TawE=

(Bitcoins) & Hed A ey =umt 4 @

wH-T 4wl B E7 '

1. Taewizs $i giv-a=m 2w F 2 i=
g T =t #

2, s F wm oam 36 @ =hE,

frw & v 9@ fedl oy =t =

fresies 49 g B W =@ W W
CETIRY

3. e aEmdl, gl w0 8 e of
T H geaE w1 B, ) 9 ged B
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1 T M e W e oA 3 g
fa) Faw 1 3R 2

(b) #aa 2 i1 3

fc) =4 3

(dj 1,233

67. Fr=fafian s o fmm Hifam

1. = ez % F @ to die fo e
~ (APEC) 51 1 7§ R

2. EEC9H 4% W gEaed e f 3

I w8 W T wh R

fa} HEE 1

{b) Fae 2

fe) 1 3w 2 2

fd) AFM 1,982

68, ®fi-wfi wuEnl § o Tl mefm wfuf

e #n waiiom wigfy fod geafm 2
(@) Wit g & |
(b) TN FE-AEA (P U wE)

(c) A=A H B W

(d) afirdt =9 & g |

69, Tfufan w e Hifim .

1. wesww  gHefEs w e
Unitarian Committee)

2. TG #iF = AR (Tabernacle
of New Dispensation)

3. sfEm i sEiauos
Reform Association)

wIE GF W H HEw IWE N @ feady
[EZEIE~iEcik: R

(a) Fae 1 30T 3
(b) e 2 3W 3
fe) #=¢ 3

(d) 1,233

(Calcutta

(Indian

[P.T.O.
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70. Which of the following 15 not a member of

‘Gulf Cooperation Council?
fal Iran

(b} Saudi Arabia

fc) Oman

fd] Kuwait

71. What isfare the purpose/purposes of

Government's ‘Sovereign Gold Bond
Scheme' and ‘Gold Monetization
Scheme’™?

1. To bring the idle gold lying with
Indian households into  the
economy

2. To promote FDI in the gold and
jewellery sector

3. To reduce India's dependence on
gold 1mports

Select the correct answer using the code
given below.

fa) 1 only
fb) 2 and 3 only
fe} 1 and 3 only

fd) 1,2 and 3

73 Relt and Road I[nitiative’ is sometimes

mentioned in the news in the context of
the affairs of = e

(a) African Union
(b} Brazil
fc) European Union

(d China

B-APM-P-CKB/65A
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73. Pradhan Mantri MUDRA Yojana is aimed

at

fa) bringing the small entreprencurs
mto formal financial system

{b) providing loans to poor farmers for
cullivating particular crops

{c) providing pensions to old and
destitute persons

(d) funding the voluntary organizations
involved in the promotion of
skill development and employment
generation

74. In which of the following regions of India

are shale gas resources found?
1. Cambay Basin
2. Cauvery Basin

3. Krishna-Godavari Basin

Select the correct answer using the code
given below.

fa) 1 and 2 only
fb) 3 only
fc) 2 and 3 only

{d} 1, 2 and 3

‘Global Financial Stability. Report’ is

prepared by the
fa) European Central Bank -
(b} International Monetary Fund

(e} International Bank for
Reconstruction and Development

(d} Organization for Economic
Cooperation and Development
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70. Frafafas # @ s ‘wdt wwdm whwg (oW
st Fafer)’ # wewg T 27

fa) A
(b} HFE FH
(c) HEAF

(dj Fa

T1. HFR A Gy @ " FE (Sovereign
Gold Bond Scheme) T ‘=0 Himm
A=l (Gold Monetization Scheme) #1/%

ey w0 BT
1. v el % um e 92 = @
el § @

2. W@ T R % AR A UHe o #Re
(FDI) 1 Sieatfia =

3, @Wil-wEm wowwa F) e 9 adh
A

= e s v w A I g
fa) Fa 1 YR
(b} = 2 3 3 |
(o) e 1 3 3
[d 1,233
72. Ff-wf g § s Ten e = s

sHRM?E  (Belt and Road Initiative)'
Tomeh Wl % wel A st 27

fa) ki EHY
m) FE

(c) T H@y
(d ="
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73. AT MUDRA TS &1 @&] 07 87

(@) @Y JabE = F=fe e g 8
@ |

(b) TR Fuwl w Rfw wEen 6 FH OB
o =m IueE =

(c) F& wd Frmem @i &l v 3

(d) #ue faFm @ | g § e
e w1 fefe (FfE) s

74, WA % FeAfaias &6 § § e/ 9 A

¥ HEI 9T W ®7
1, = 9

2. FEQ AR
3. FON-MEED A

e fog o 2 w1 wEm = ad I g
fa) =R 1 HR 2

(b} FES 3

(c) a2 T 3

id 1,2 33

75. ‘afys frf firm fd¥ (Global Financial

Stability Report) Fras gm fan & 5
27

(@) T Fa o

(b) g™ gz

(c) FaUgm gAET vE famm &

(d) @md®:  gEgm T A

(Organization for ° Economic
Cooperation and Development)

JP.T. 0.
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76. Regarding ‘Atal Pension Yojana’, which of Select the correct answer using the code
the [bllowing statements is/are correct? given below,
1. It is a minimum guaranteed fa} 1 and 2 only
pension scheme mainly targeted at (b} 3 only

unorganized sector workers,

) fc) 2 and 3 only
2. Only one member of a family can

join the scheme, fd) 1,2 and 3
3. Same amount of pension is 79. India is an important member of
guaranteed for the spouse lor life the Tnternational Thermonuclear
aiter ‘gubacribera:geath. Experimental Reactor’, If this
; : cxperiment succeeds, what is the
Select the correct answer using the code immediate advantage for India?

given below. fa) It can use thorium in place of

uranium for power generation

fa) 1 only ) ;
fb) It can attain a global role 1n
fb) 2 and 3 only satellite navigation
fe) It can drastically improve the
fe} 1 and 3 only efficiency of its fission reactors in

power generation
dl 1, 2 and 3
i {d} It can build fusion reactors for

power generation
77. The term ‘Regional Comprehensive

Economic Partnership’ often appears 80. In the context of the history of India,
in the news in the context of the affairs consider the following pairs ;
of a group of countries known as Term e e
() G20 1. Eripati : Land, revenue from which
' was set apart for the main-
{b) ASEAN tenance of the village tank
2. Tanivurs : Villages donated to a single
fc} SCO Brahmin or a group of
Brahmins
{dj SAARC 3. Ghatikas : Colleges generally attached
: to the temples
“78. On which of the following can you find Which of the pairs given above is/are
the Bureau of Energy Efficiency Star correctly matched? '
Tely fal 1 and 2
1-. Eﬁl]ing fﬂnﬂ irh,lll 3 ﬂ-I"lh’
2. Electric geysers fc) 2 and 3
3. Tubular fluorescent lamps {dl 1 and 3
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76, "wEE UsE U & dey § etafee e d

§ AT R T R R

1. U% UH AR TEd 999 g g, @
Y& Y ¥ s &9 % megl % @
AT B ,

2. 4YiER ® Fae T g S W gram §
wiHA 8 HE@ R

3.  HAiEm (FewpEal) i ge]. % 9ee
A | wEEe 9w 6 gam o
ifea el B

Y T 2w o e I gh)
fa) Fa@ 1
fb) Fae 2 30 3
fc) %aa 133
fd) 1,2 @R 3
77. e wiERfRE s mﬁrﬁm
(Regional Cﬂmprﬂhﬂﬂﬁi\ft Economic
Partnership) 9% Wi: WA= § 291 % s

ﬂﬁg?nmweﬁﬁsaaﬁﬁmhﬁvﬁ%m
HHE | T A@ 27

ja] G20
(b) ASEAN
fe) SCO
{dl SAARC

78, frafofes # A el o 3= ewa =
[Bureau of Energy Efficiency) %1 =R

wEd O 87
1. =a% (dfem) 4@
EPGRIE

3. Afereren widi (zgeen weitde) &y

B-APM-P-CKB/65A

29.

A2 Ry g2 = owm = ud aw gfe
fal @EA 1 382

' (b} R 3

e} a2 33
fd) 1,233

79. WA ‘saldm au-mfidin e e

(International Thermonuclear Experi-

mental Reactor) # U& "=yl wew B

aft ww vEm w%a # e R, 9 9Ra w6

AT @Y ) 87

fa) & Togd IeRA * fo gifem A e
Wifem g w1 aeEa R

(b} =& I9UE APIHLTA (Hener A §
wF AT iR YW = A R

(c) T% TR 3red § o frweEa ()
%‘tmﬁaﬁamﬁﬂ'&ﬁ%ﬁmﬁm

(d) T8 TR 3w o ogem (wEe)
frozedl = fmfo = e @

80. w%m%mﬁﬁﬂmﬁmgﬁm

o e .
= \EEsu

1. uimf : o, foR fied amn

T ATHT | T A9

#F t@-TaE & T
Fuifa = B s o

2. WM : UE S WE HYE U
mmaﬁmﬁﬁm
M ITH .

3. =i WM Gl F Ty gag
o 2N

I A B A-/E gm A gt /R

fa) 1 3R 2

(b) #=A 3

fc) 2 %73

fd) 13w 3

S % O+ )
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81. Consider the following statements

1. The International Seclar Alhance
was launched at the United
Nations Climate Change Conference
in 2015.

2. The Alliance includes all the
member countries of the United
Nations.

Which of the statements given above
is/are correct?

fa) 1 only

fbj 2 only

fcj Both 1 and 2

fd) MNeither 1 nor 2

Stability Mechanism’,
somnetimes seen in the news, is an

fa) agency created by EU to deal with
the impact of millions of refugees
arriving from Middle East

(b} agency of EU that provides
[inancial assistance to euroczone

studyfry.com

Select the correct answer using the code
given below.

faj 1 and 2 only
(b] 3 only
fc} 1 and 3 only

fdj MNone of the above is an advantage
of practising drip irrigation

84. Regarding ‘Digilocker’, sometimes seen

in the news, which of the following
statements is/arc correct?

1. It is a digital locker system offered
by the Government under Digital
India Programme.

2. It allows you to access Your
e-documents irrespective of your
physical location,

Select the correct answer using the code
given below.,

Cfa) 1 only

couniries ) 2 only ;

fc) agency of EU to deal with all
the  ©bilateral and multilateral
agreements on trade

fcj Both 1 and 2

fd} MNeither 1 nor 2 3

id) apency of EU to deal with the
conflicts arising among the member -+
countries 85. Recently, linking of which of the following

: .l
rivers was undertaken?

83. Which of the following isfare the
advantage/advantages of practising
drip irrigation?

fa} Cauvery and Tungabhadra

fb) Godavari and Krishna

1. Reduction in weed
2. Reduction in soil salinity {7 ‘Mahanadiand Sone

3. Reduction in soil erosion fd} Narmada and Tapt
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81. Fefafas =99 w F=m fifsw .

1. #WEHR H#7 TEEEd (International
Solar Alliance) #! 2015 % ®qF B
Serary qitad 'etea § gee e T
91|

2. ¥H TEEYA H wgw TR % 6 uEe ¥W
afgfe §1

I9Y T WA FA-E W R
. fa) FEE1

(b) e 2

r-'.:; 1 & 2 26

(@ Fd@ 1,782

82. wAF=N § wfl-Hft 3 w1 S ‘gindre e
7 (European Stability Mechanism)' #11

B7

fa) T=E-9E @ wEl ynlEEl % A F g
Eﬁ;maﬁ & feg EU 301 & T

(b) EU # us s, = mds (F0H) &
=511 = Taeim s Ivees w0 2

fc) \Hi Tuef vd Sgvsdia = waghdl =
s & e EU it o v

(d) weH TE & d9 uade gemm % fem
EU = 0 TaH

83. fofefiaa 4 & FR-w/8 = (Rn) ferd
YEld F W w5/ TR R

1. @-9ER ¥
2. HE FEvE §
3. TE H9EA § F)
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i fm g e o v = wd I gy
fa) Hae 1 30 2

(b) & 3

() Fa@ 1313

(d) I i @ ¥ o faw fad sl =
F‘l'IHT-l'[-ﬁ‘%

84, Fi-wfl w3 frmn aw Rt

(DigiLocker)' % Hau # Fr=fafias sai d 9

=H-H1/H w8 /R8T |

1. =% fEhea it vom % s@h o=
W R W aen s fefvem @l
fom &1

2. B FNE -TEEE 4% o uge @)
a9g a9 2, 9 9w v 8 s
Iofefa = ot 21

= T T 2 W owEm W= oad 3w g

e} 13 22

fd) AWML, AE2

85. mﬁrﬁﬁﬁﬁ‘ﬂﬁiﬁ?ﬁtﬁﬁﬁﬁﬂaﬁ?ﬁsﬁm

i foran e
(a) FEG T GO
(b) TiEvEd =i e
fc) WEFE! 3R H/A
(d) a1 FHW A

[P.T. O.


Sunil Kumar


Sunil Kumar
General Studies - 2016                                      studyfry.com


87. With

General Studies - 2016

86. In the cities of our country, which among

the following atmospheric gases are
normally considered in calculating the
value of Air Quality Index?

1. Carbon dioxide
Carbon monoxide
Nitrogen dioxide

Sulfur dioxide

woA W

Methane -",

Select the correct answer using the code
given below, :

fa] 1, 2 and 3 only
(b) 2, 3 and 4 only
fe} 1,4 and 5 only

fd 1,2 3, 4and5

reference to ‘Astrosat’, the
astronomical observatory  launched
by India, which of the following
statements is/arec correct?

1. Other than USA and Russia, india

is the only country to have

. launched a similar observatory
into space.

2. Astrosat is a 2000 kg satellite
placed in an orbit at 1650 km
above the surface of the Earth,

Select the correct answer using the code

given below.
fa] 1 only
fb) 2 only
fcy Both 1 and 2

{d) Neither 1 nor 2

B-APM-P-CKB/65A
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B8. With reference to the economic history of

medieval India, the term ‘Araghatta’
refers to

{m) bonded labour

(b} land grants made to military
officers

fc} waterwhee] used in the irrigation
of land

ld} wasteland converted to cultivated
land

89. With reference to the cultural history

of India, the memorizing of chronicles,
dynastic histories and epic tales was the
profession of who of the following?

) Shramana
(b} Parivraajaka
(e} Agrahaarika

fd) Maagadha

90, Recently, for the first time in our country,

which of the following States has
declared a particular butterfly as “State
Butterfly?

(a) - Arunachal Pradesh-
(b) Himachal Pradesh
fc) Karnataka

(d] Maharashtra
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86, Mt %W F Well W AY A HEFEE (Air 88, WEFEH WAA F fdE them 3 ged § v

Quality Index) &1 TiEFeH F1 § BIHROEH "W9E (Araghatta)’ 50 feia = 27
Ffafigs amhedie 46 4 3 feer fam |
T <k &1 (o) g
1. THEA SEHFEES : !
2, e dHEEES (b) H= sl = Gy g sgER
3. AEZeE ERHEEEE .
4, TR SEHTERES () @ﬁﬁqﬁ%mﬂqﬁ-ﬂmiﬁm-
5. BiF 1 )
1 few T g2 5 o e oed e af o (d) i g d e né ww g ;
fa) Fae 1, 2 8 3 |

e 2, 3 AR 4 89. WA F wwpfrs sform % wed § gfagd,
) . mrarsia siaeml man v F) SEem w0
fc) ¥aw 1, 4 35 Frafafan % 4 T =539 @y

| .
id) 1,72, 3,435 fa)  #EM
b) TiETe
87. VWA TR WHIMA wWiEE A9wen, e o)

(Astrosat) & Ted § F=fafas weat 4 4
- /A T 2R (6, S
1. USA 30 %6 & AaE Had i EEE @

tar W R B odahe § =
AUHTEN WHITEA F B
§ ffﬁ‘gﬂgﬁ%%miigﬂ;ﬁ& 90. T © H, ﬂ“ﬁ%ﬂﬁwﬁaﬂ Snferfiaa Tt
7w ar i rnfiE B - i 3 v R R = e B &
w9 4 Oiftm o 27
= fam o 2 = g = Eﬁmgﬁm
(@) @ 92T

fa} A 1

) %ﬁm ; | (b) Tem=e wim
fc) 130 23 . fc) AT

(@ F@ 1,782 (d) WEWTE
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91. Consider the following statements : 94. Consider the following pairs :
The Mangalyaan launched by ISRO Famous place Region
1. is a]_su called the Mars Orbiter i Hadheava 'y Baghelkhand
Mission : .
2. made India the second country to 2. Khajuraho . Bundelkhand
have a spacecraft orbit the
Mars aiter USA 3. Shirdi :  Vidarbha
3. made India the only country to be
successful in making its spacecraft 4, Nasik [Nashik) : Malwa
orbit the Mars in its very first
. attempt 5. Tirupati- . Hayalaseema

Which of the statements given above
isfare correct?

[

Which of the pairs given above are

fa] 1 only correctly matched?
fb} 2 and 3 only
fej 1 and 3 only fal 1, 2 and 4

fd} 1,2 and 3
. k] 2,3, 4 and 5
92, What was the main reason for the

split in the Indian National Congress at
Surat in 19077 fc) 2 and 5 only

fa] Intreduction of communalism into .
Indian politics by Lord Minto " fd) 1,3, 4 and 5

(b) Extremists’ lack of faith in
the capacity of the moderates ;
to negotiate with the British 95. The Parliament of India acquires the

Government power o lf:g:isiatﬂ on any item in the
State List in the national interest if a

F dation of Muslim League ; :
(e} Foundatio B resolution to that effect is passed by the

{d] Aurobindo Ghosh's inability to be

elected as the President of the

Indian National Congress fa) ' Lok Sabha by a simple majority of

its total membership
93. The plan of Sir Stafford Crnipps envisaged

that after the Second World War (b} ‘Lok Sabha by a majority of not
{a) India should be granted complete less than -two-thirds of its total
: independence_ . - . - membership

(b) India should be partitioned into two

before granting independence (¢} Rajya Sabha by a simple majority of
(e India should be made a republic its total membership

with the condition that she will join ; &1 ”

the Commonwealth (d)] Rajya Sabha by a majority of not
{d] India should be given Dominion less than two-thirds of its members

status present and voting
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91. F=fatEs sl w FEn fifew .

ISRO g1 wHif=a WreaH
1. @ A it fipem oft @ = R
2. F WA W1, USA T 918, ¥ % IR 3N

Al a1 & S T A 55 A

ECifceil |

3. 4 A ¥ wHam tm oEm s fem B,
e 199 Ay 99 =1 A F =W

T T w0 aeel! |n 8 # gwem
U8 F :

I A § F - R

fa) aa 1

(b) THEE 2 #N 3

fc) e 133

(d) 1,2 %R 3

gzi'fﬂf 1907 # ga ¥ v ndm =i % favsm
ETEHWWEH?

@) @ A g0 wwdlm TeEifa 8
WIS F1 099 T

(b) Sl R ¥ Wy AwEGEr # 9w
& A F 9R 0 gomivd 7 Gam

hi -HHTE .
fo} gt & Ft e
(d} vRdE e wHE W e Feifa @
T H ATEE J1Y ) sEmdm
ga.méﬁ&wﬁmﬁﬁmﬁﬁ
fidfa e gg % am - |
(a) T w1 A e il W iR

{b) oW TEE T S U8B 9TE F 8 9
1 fwfem =2 & =it ;

fc} W F W WA F WY WA TN
T w=ife T 98 TEHE H wfie g
(d) a % Sl e T o @iEy
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04, Fefafas 7o w =R e

wiirg O
1. =g . e
2. EIUE) . gravEvs
3. ﬁﬁ:ff ' v ey
4, iR T HIeEl
5, faeaf s T
Ive A 8 Y -8 wE gifea §7
fa) 1, 2 34

(b) 2,3 43NS
c)] TEd 2 35

[d 1,3, 4305

95, Ug f&a # wim &1 w93 s g & R oA
Tomm e fafs wifs um = o4 R oRR ead

. fal z—i’ﬁammmﬁwﬂﬂmm#
wryEY Fgad § ot = T S

(b) i BN TN HE Wyl wEEm wEm %
F4-8-%9 TI-Tes TEEd | Wi =
fean =me

¢ T ¥ FTW F9 wAp weREer %
T[T SEHA B 9T e s

f’d}- T T 10 994 39 v 56 32 99

wEE & wa-d-ww A-foed wgmw @
uifs = fomn =
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96. Recently, which of the following States

has explored the possibility of
constructing an artificial inland port
to be connected to sea by a  long
navigational channel?

fa) Andhra Pradesh

(b) Chhattisgarh

(c) Kamataka

] Hajasthan

97. With reference to the Agreement at the

UNFCCC Meeting in Paris in 2015,
which of the following statements is/are
correct?

1. The Agreement was signed by all
the member countries of the UN
and it will go into effect in 2017.

2. The Agreement aims to hmit the
greenhouse gas emissions so
that the rise in average global
temperature by the end of this
century does not exceed 2 °C or
even 1-5°C .above pre-industrial
levels.

3. Developed countries acknowledged
their historical responsibility in
global warming and committed to
donate $ 1000 billion a year from
2020 to help developing countries
to cope with climate change.

Select the correct answer using the code
given below.

fal] 1 and 3 only
(b) 2 only-
fcj 2 and 3 only

fd} 1, 2 and 3
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98. Consider the following statements

1. The Sustainable Development
Goals were first proposed in 1972
by a global think tank called
the ‘Club of Rome’.

2. The Sustainable Development
Gioals have to be achieved by 2030.

Which of the statements given above
isfare correct?

faj 1 only

fb} 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

99, A recent movie titled The Man Who Knew

Infinity is based on the biography of
{a) 5. Ramanuyjan

{b) S. Chandrasekhar

fc} S. N. Bose

fdi C. V. Raman

100. Consider the following statements :

1. The minimum age prescribed for
any person to be a member of
Panchayat is 25 years.

2. A Panchayvat reconstituted after
premature dissolution continues
only for the remainder period.

Which of the statements given above
18/ are correct?

fal 1 only
(b} 2 only
fe} Both 1 and 2

fd] Neither 1 nor 2
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06. i # 4 Frefafas o= § & e o= o=

TR 39 g wgE 8 9 90 ¥ fm o
Wﬂﬂﬁﬁammﬁﬁwzﬁawm
e T BT

fa) Y F=

97. = 2015 # @ # UNFece ¥ @ 4

goeiet % wWed o PiRifas s 3 0@

HH-H1[H T R/

1. %A @Weid W UN % &+ wee 39 3
waR fHu o ap af 2017 | @
&

2. W mwge deEEe o I w5
difta =4 =1 w5 TEa ¢ ey g o
* ¥ % sl A T B gl
EﬁT‘T—"ﬁ T (pre-industrial levels) §
2°C I Hiym # & 15°Cc §
#fe =7 4 T

3. Towfim 2 3 s o § ad
" et Taeer) F1 W= of e
gfada &1 A W & e g
. H weram o+ g 2020 ® wied
1000 318 2o 27 6 sfEagm saE|

ﬁﬁqummﬁnﬁmgﬁm
fa) “heEel 1 303

(b) a2

fc) %A@ 2 3w 3

) 1,233
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9g. Ffafas w931 m fa=m Fifaw .

1. urefls  FEm @89 (Sustainable

Development Gnalﬁ] TEE "R 1972
4w 4w =R "2a (s 3=) 3, Bm

Foe oTE UG FE A o, SEEE
TeFan o |

2. unvitm FBFEE 99 2030 7% T o
it :

I wwEl # A FE-w T R
fa) e 1

(b) @ 2

fcj 10 23H

fd) a1, T#2

99, 7 € A =91 7 47 § = FHHL2 (The Man

Whe Knew mfinity) s amwn aofas
Toraes sftamaiom @ anurim 27

fa) THe THTISH
(b) THo SEIGE
fc) THeo THo FH
(dj e dte T

100. Frefafisn wusl o famm i .

1. Tl oft =afip & Fore geima =1 w2 o990
+ foru =mm Pt sy 25 = )

2. UETHE % GEAGE 9T R uae gaifaa
JETae e safiE g ¥ o @ s
TEdl gl

I T 0 W FE-G1/A RS RT
(@) Faa 1

fb} ¥ 2

fe) 1 3R 2 2H

fd) Fd@ 1,982
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